
�������

�������	
��	�
��������
����������

	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��

���&�������� ���

�������� 	
��� 
���� 	
��� ��� �	
� ������
����� �	
� ��������

�������������

����������	
���

	��� ���������� ���%'���� ����� ���� (���� ������(����� ���)�

*��+,���,����+-!$��./�0�����������	
��	�
������������

�������1�2����	���&��3��4��&����������	�5
�!���$����������&����������

���� �$�,� (����&���� ������ �.�� 1���� +��� &���4� ���� ��		
$���� ���

	���&��3��4� �&�������26�����7�7��4� �������	���� �������������2

8����������!���	��9�
���	3$����37��������*-!$�3�����+/����

��+4�:;�<�$���	
����&��=�������>����1���	������������	�.���������������(�

��2�� &�������� ��(������� ?����
8���� 	3$��� �37�������

*��������+/� ���� �$�,� ������&�� �
�>��6� +������ �$��&��@� �!�

?����
8����	�.$������
���������	
���"�����9�
���	3$���!�AB����

�"��1��������������	
��	�#
��������������������7�7��4��26

�� ���������1��������������	���@�	���	�
��������������&�������

���9��	���� ������� �� ���� ����
��� 	
�� ��	������ ��C�>��� �1���	�� �

-!$�3�����+�������������+�����!��7�������������&�=
���������4

���>��6� 	��� 	�
��������� ���� �&��&�(�� >��2��� *&��������/� ���������@

�&�=
���C��� �
� ��
�� 	�
��������� ������������� ��C�>������

��>
���������
������#�D��&�7���
���������9��7�7��4������������C�>��6

�� 	�
���������8�����2E��	��	�
��������������7������+�����

1������8��
����������"E�	�
���������	�.$��
��������	�>�������	
�

���������&�;�F��26�	3$���G�9������	���
��������������,�����	�<�

?��=��� �2@� +���$�,� �H�
���� !����� 	�
��������� ���� ���!��(�� 	���

+�������7���������������"6��&��=��%�	��$�������
&���
���������	��
�

�.���
������	�.$��
��������$�����I�����������7
�1������������"�1���

?���������������	���>���������3���4�����G�9�����	
��!��$��&����


�=��4�����2�6�$
������1�!����	�>��	3$��������!�AB�1�������2@����

���������J����=��8�������K������������2@�1��&���L$��>����!�AB

1�������2�����!�7�������� &������&���� 	3$�����	����������26

!�7��������4@����&
=���������&�M�����	�(���9��	�
������������

���������	��
���
�����
����������
�
������������������*****

�����������	���

� �&��������(��������H�
�*���-�,��/@����C&���������	��	����N�1���&���
OPQP� ����� ���������� ���%'���� ����� ���� (���� ������(����� ���)�
*��+,���,����+-!$��./���		��$����	����:���������	�
�����@������4���$���
�����=���@�������������1�&�4�!�����0����������>������������6�-�R�����	����
�����0��������>�+4����������������$�,��	��?���������������"6



�������

�������	
��	�
��������
����������
	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��
���&�����������

!���1���������!��7�������%����!��(��	���������"6�	�
������������
���������,���?����&������������!��1�����������(��4������&����	���
���&��&��9���	
��)���$3�?S�
>�����������������(��4�	���������
�!����,
�<��
�����������4�	�����	���&��3��4��26���(����	���&��3��4�C������@
>���!��$���>��	�
�������������������4�	������&��4�(������	�1�
��������
�"�8���������	�
��������������<�$������!�7��&����������+4���������>��
?������?������ ������ ������������6�1�2���� ����������� �
�������2@
T	�
�������������(���������&���C����2��1�������!�7�����$���>��������
�$�,�	�G=��$����������2U6�+���������@�	�
�������������	��	�$��
����+�������������������	
���	
=���(������<�V7����������26

�� �
����
������
�������������
����������
��
��

	� �������	���� 	�.$���������� ���W��-B
���������>�������2��������
������	�;F���2����#����������������2�1�!��QXYQ�	�������������
	�.$��
�� ���� �37�������� 1����� ������� >����� 9��6� &���4	����� 	
�@
	�
����������������W7���&�����������9��	�����������"L�9�
���	3$��
�37��������*-!$�3�����+/�����?����
8����	3$����37�������
*��������+/�����7���� �����6�+�������$��&��@�����$�� )���$3
?������*1��-����/�������������������%'����$
<�������G<�����
*,��,,��/����� ���1��������	��?����
>��&�����*���,�����+4/
������������9�4&��&��9��L&����	�
�����������������%����	����
���������������26�-!$�3�����+������?������?77��Z��8&������Q

����?��$�!(������������������-$��+���	�
���������������	�����
1�������2@���$���������@����%'������&���1�������&��7D���������-B�
1�
�	�
�������������!
������&�=$
������������&�(���?��$�!(����
�������� �"6


� ��$������� -!$�3�����+� �
&���
�� ���� 	�.$��� ��&��� �����
������@���������+����������������2� ����&���<�����	�.$��
�����
��(��������?����
8����
��������1����������	3������1��&����G�9����
$��>���� ������!���!���� ����>��6� ��������+� ���� 7���� �����
�� 	���@
��S�
�>����:�	���
��*��+-!$�3/�������������+�������&���1�
�.�������������+�L��;�����:�	����*,,$�/@�>��	�����:�	���
*���,$�/� ���� =����� >��L:�	���� ��	� 47������
 �
*��.,��,	�+4/�������$�����	
����(������������26����>��[����
\�
	
�@���������+�L��+4-!$�3������1��&���������$��>�����37�������
����C���	
��������>��	����$������1�����6

�� �.���������@�1��-����������������	�
�������������&�������
�������2@�1����G�9���	3$��
������������	��13���	�.$��
������1��-����
�����������������C������%'����<����
�����������-B�����
����������26
��$������������
&���
������������9�4���>�����&��(���
���������.��4���
��&���������� ��2@�QNNY����������
�	����
�����������$�����
���9�� \�	�������� ��(���� ���� ?��$�!(�� �26+������ �$��&��@
&������&����	3$������	����������������
������$�,����%'��������
��	�77����	�������	�	��\������	�.$�����	��������������$�,�!�-B����	���

����-!$�3�����+�����?����
>���������1�������26

�� ��������������������=��8�������������	�1�
�������������
�2@������	�
�������������7������������������	�����9�4&��&��9���	���
	�
%����������������&���	���>���������3���4��������������J����
������	����������$�����������<���1������7����,6�������#@���$�����
&���
]������������	�
��������������&�����������������������&�;�M�����
������������+4�&�7��������	��
����
�?[������26����$��@�-!$�3�����+
	�
���������������������+�	�
�������������!��7��������!�AB
>������26��.����@�-!$�3�����+��������������(��&����	������>����
�2�8���������+��	���� �
&����
\�@�1�
� ����1��-���������,��� !�-B�
����!�AB������������2���2��1����OPPXLPN�	
��$�>���>��Y^
�����=����9��@���&��������������6��������@�����������(�����&��(�
L�-!$�3�����+������$�,�*QNN_LN`/@���������+L��.,��,	�+4
*QNX`LQNX^/@� ��������+L���,$�� *QNXYLQNXa/@

� -!$�3�����+�O`��8%.!���OPPN�������
�������������������$�����
���9����������������(��������?��$�!(��9��6��!���
�?����	3�
��L����9��	���
&����#,��*-!$�3�����+�	
������������OORP_������=���/���2��+](�������
�!�1�$��@� �����=������$�#�!�����%�*-!$�3�����+� 	
�� ����������Q`RO_
�����=���/�,�����<�&��-B������������$���������9����������������(�������
?��$�!(���"6���	�>��-!$�3�����+���.7����������<�&��-B������������$�����
���9��	����������(��������?��$�!(���26



�������

�������	
��	�
��������
����������

	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��

���&�������� ���

��������+L,,$�� *QNXYLQNXa/� ���� ��������+L
��+4-!$�3� *OPPQ/� L� �9�4&��&��9��� 	� � �� �#,� �� �1�
����7�����	��������&���4�������������&����������	�����&���$�������"O6

�� �!"��#���#���	��"��#��
��$
����%��#�
��


�� -!$�3�����+� ��2�� ��������+� 	���� ����� 8��
�� ������
�2E�?�������������������F����	
�������������
�����26����$��@
<��S�������������������+�	������(������������2��1�������������
��������+L��+4-!$�3� 	
�� `Y� �����=���� �
� YN� �����=���
�������������2�1�!�����-!$�3�����+�����	��\��Oa������=���_

��������26�+���$�,@���������+�<��S������9�
]�����	3$��
��	
�
����&���4���������������(�������&
���=��$����������26��.����@
+](������	3�����������������������+�*^R^��
�XR`������=���/
���� ��$����� 	
��-!$�3�����+�*Q`RO� �����=���/� 	���� !��#��
��(�����2/6�+�������������	������C���	
�@���������%'������77

�
$������	�.$��
��	
��)�%L!�AB������������������+�������$����
	
�� -!$�3�����+� ���� 1������ ������� �26� �������@� �
&��,�

-!$�3�����+�������������&����������������1�!�����&
���������+

	������������2@���$������?������������$�>����������26������1�����@

�
&��� 	3$��� 	�
������������� �����&����������+� ������(���

��������26

�� 7�.�����<�����!��1����9�
���!��1�����
�&�����
�������������

��������2@�����?		�����2�����9�
���!��1����	
��&�����
�����

	�.$��
�� 	
�� ����&���4��� ���	������ C��� �
� <����� !��1���� ����

������&���� ����>��6� 	�������� -!$�3�����+� ��2�� ��������+

���� ������>�� ������� �#,� ���� >�+4� &��8%�� ��b%
� ��>��=���

*&��,���/�Z��	�&��4��	����>���>������b���$%�%��%������=��4���

�2�������&�;�M�����������������������+�-!$�3�����+�����,��

	����������D���������26����������+���2��-!$�3�����+����

!��7����)�4����$���������L���!��(��������������26�+���$�,�������

	
�������������<���>�+4���&�;�M��1������������2��������������+

��2��-!$�3�����+���)��4&��(��	����,����.������
��.��������1��

�����
6

� ����?$$
<��������2��������%'����$
<��������$���*,��,��,/�QNN_/����(��������������	�����S�����������$�,����%'��������G<������,1
������
����
�������&���
���������������26����	��������@�����^����$��	
����(�����������=�
(������	�<���&�������������?����
���=�
��	
���&�������4��26
� �&�����	�4���<��S������9�
]�������6

����������������� �!� �"�������� �!��
����
�������
�������#�$���%��&��������&�

���
��=

���

-!$�3�����+

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

�
8�

�.R

1�
��R

�
��2R

1�
#$�

�R

-!$�3�����+��������+



�������

�������	
��	�
��������
����������
	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��
���&�����������

��� +�������$��&��@�-!$�3�����+@���������+L��+-!$��.@
1��-���������������@���2�����,�����+4��������������)��4&��(�
	����,�����	�������9�������������"�*��������Q/6

��� ��)�4����$���� ��	��L!��=��� ���� ���!��(�� ���� !��&�1�.�@
-!$�3�����+���2����������+�����!��7������������OPPX����
��.&��4(�4�����!�AB������2�*7��%4�O/6

��� +����������������	���$��<������������������������2�6����$��@
<����1�
������(�����
�������	�.$���	�+4L13���OPPX�����������
�
1����
�!�AB��������������1��������>���>�,�1����&��c����d5����
��
��=��4�����2�6�(����,�������	�:�(����,����������+���	3�����
,����������������������@�����@�������������+�����-!$�3�����+
����!��7�������������!�AB�������26��.����@���77
��
$������	�.$��
�

	����(�����
������C���	
��,���+���������������&�;�M��9����1������
��������+� ���� ��$����� 	
�� -!$�3�����+� ���� ��(���� �����&�
9��6��������@��
&���
��L�1��
��7�����������<����$�@��=����@
	���
��1���@�����&������������7��������&���8��>������<����$�
L�������������+L��+4-!$�3�	
��	�.$���	����X������=���������(����
�����	���&��3��4�	�
����������#+46��������#@���������������������1��
���������2� ������$�������&��(���������������	�>�������������� 	���
����������!��&�13����������+������-!$�3�����+�����<��S��)�%��
1�2���������&�;�M���=��4+4�*7��%4�_/6

���
��� �!"��#���&'�(� ��

��� -!$�3�����+����=�
(���������4��$��*�(��������
�����1����
�
��/����� ��������=���������#������	������(����&���4��S�����
�������OPP`LP^��������1��������26���+4�:;�<�$���	
���&�����	�4��
?�����
�������������&������	�.��	������(����&����#,����&�������>��
��2�� +��	���� ���>��[��� ���� ����>�[��� �&����	��4��� ���\����� ���
	�����=���	�$������>��6�1�!�����+�����&���1��	
����(�����
>��@�&��V
	�.$��������-B�����������>���������	������(��������������e����������
����7�#���2�����2��������>���&�M�����
�!����,��<���1��������6���9�����@
���=�
�(����-!$�3�����+���	�.��	�����
&���	�.$���=���	�$�������
�
�>��6�,����&�=
��f���$��*�(��������
����R���R�7��
=
<��/

����'������#	��
���� (������
����
����
#	��
 �������� ������ �!) *������� ���+�
���!

 �!  �!�����,  ����
����  ����
����
� � � 	 


�������������
��
� ���� 
�� 
�
 
�	

��
��
������������ ��� ��� 
�� 
��

������������������ ��
 
�� 
�� 
�


��������������
��� 
�� 
�� 	�� 	�	

��)��4&��(����&�;�M�
��������������
��� ��� 
�� ��� ���

������-���������� �!�� (�������� �!���
����
�������
������� ����

���
��=

���

��������+4L
��+4-!$�3

1�
��R ���

R

	��
7�4

�
��2R 	�+

4

1�
.��

1�
#$�

�R

�
>�R

���
���R

�
8�

�.R

��&
��R

��
���R 1�
��R ���

R

	��
7�4

�
��2R 	�+

4

1�
.��

1�
#$�

�R

�
>�R

���
���R

�
8�

�.R

��&
��R

��������+4L,,$� ��������+4L���,$� g��������+4L��.,��,	�+4 -!$�3�����+



�������

�������	
��	�
��������
����������

	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��

���&�������� ���

�
&��� 	3$����37������������ �&����������� ���J�������<�������26
-!$�3�����+��37���������������������(��&��!�AB��
������$�,@����
	���&��3��4��2����&������������=���	�$��������������$�,���&���1�����
�&��������������1��,6

)
"��*�
��! ���	!%��
���


�	� �	��������������=�
�(����-!$�3�����+������������!��&�1�.�@
�	�����������?��������	3$����37��������*��������+/��������
>��6
��������+� 	���� !��1���� ���� �$�,� ��2����� ���9��	���@� 	�(��&����4
�����������	��$��������������
&���
�������	�.$�������&���4��
���� ?�������� ����� ������� &��$��� ����=���������� =���	�$�� �"6
-!$�3�����+�������������+�����!��7����&���1������������8��
���9��	���� ������ ���� �2� ���� -!$�3�����+� 	���4�� ���� ���
���
�� �������?�������������������$��>���� 	
�� ����&���4��� ��

�=��4�����2@�1�!�������������+�����
����
�D
-B����0��������#,
	��$������$������������	�.$���	���� ����&���4�������(�������������26
��������+�����?��=���&�����
������?�������
��0�����������	�.$��
�������������������������26���������+���	������������S�
�>���
*�&����	��4��/����\����2�����&�41�������?����
�>�����*�!�1�$��@
>�����������7���/��������&�����������26��#�D���=�
��	������;����@
<�����@�����&����@�����&���������
&���
�����������=���	�$��������

1�������26���(�����=����=�
������QNaP�����QNXP������=���
	
�� -!$�3�����+� ����� ��������+� ���� ������9�������� ������6
�&�=$
������	��������
1���
�������$�,@�����&���D�������
>������
������������$�,���������+����������$�����������J�����=�C����
1��,6

����)"����+
����! ���	!%��
���


�
� �<�������������@���������+�1��&����G�9���������$��>���

��
�������!���!��������
������$�,��2�����?������7���������&�����
�

�����
&���
������<�����	�.$��
�����������	
������&���4���������(���

����>�������1�������2� �1���� ����?����
8�������������������

!�-B�� �������<�7�4�����
��"6�+���$�,@���=������ �$�,���	�>�

���2������,���&����������(����������������+@��
&���
�����

�&����	��4���?�����
��������@�	���
�������������	��4��������$�,�!����

�������>�����26

��� ������#� ������� 	
�@� ��������+� ���!��(��� �����-B�� ����3��4
1������<��������!�1�������!����������&��������&�>�
]��
����!���(���
�2�6�+���	����������	��(����������$�,���1�&�4�!������������$������9��
���� ��������+� *=����/� ���� ��������+� *>��	����/� ���
h��%��������������!��������9��6�+������!���@�����
��������G<�����

������.���������� �!�/0��1�2� �"�������� �!����� �&��������
����
�����#���
����3)$����45

���
��=

���

-!$�3�����+�*<��S��&����#,����2��<��S��?�����/

1�
��R

1�
#$�

�R

��&
��R

�
��2R

���
���R ���

R

�1�
$�

�R

��
���R 	�+

4

�
8�

�.R

	��
7�4

�
>�R 1�
��R

1�
#$�

�R

��&
��R

�
��2R

���
���R ���

R

1�
#$�

�R

��
���R 	�+

4

�
8�

�.R

	��
7�4

�
>�R 1�
��R

1�
#$�

�R

��&
��R

�
��2R

���
���R ���

R

1�
#$�

�R

��������+4L
��+4-!$�3

��������+4L���,$�



�������

�������	
��	�
��������
����������
	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��
���&����������	

���>�[���*���,���
/�������������+�*=����/�������������+
*>��	����/�����������-B����2���������������������4�?������������$��
�$����6���,���������+���������$��������1����������!��������	�.$��
�����<����������!�-B�������-B����8������������������	����,���$��!��
����������������>��6

��� �
����
������
��6��"'��/%��7������2������

��� �3�����=�������$�,�	�
�����������������������(������������2�
����	������	����������$���������9��?77����&�;�M��	
��	�
��������
����!�����	
��1��������������?��$�!(�����	���
�����������������7��$���
�����$�,�!��#���	���&��3��4��26���)�4����$���������$�����&�=$
����
������(����������������������>�����������]�	�����������>������2����
	�#
�����3���4�*,	�_/�����-!$�3�����+�����:;�<�$���������
���	���������������	����1�#-B���"����2��+���������������������	�$�
1�������2�����-!$�3�����+�	���
��������������&���4���������������
��(�������#�.�$����������2�*��-i-�@�QNNN26�	�#
������.���4
���������4���	3����������
%4�*QNNX/�	����-!$�3�����+���������
	�
�����������������������C���	
��+��
	��$���������>������������
�������>����������������������	�#
��	���>����	������������$��!
���	���
�����7�$��
�&��$���	�.$�������$�
7�������,��������������!����<�����6
������������-!$�3�����+�	�
����������������-$��+���	�
��������

����C���	
������
>��	����$����������!��&�1�.�@���$�����	
���+4����	��,�
?����� �"� 1���� 	�
��������� ���� ��9��9�4&����� ����$���� ����
-!$�3�����+�������(������������&����4�C����
�1��%$��!�������
�26�+������	�
���������������
����
���������9��������������?��=��
�
�	���
���������������!
�����C��������������$�,�	�
������������
����������(���� ������ ���� 1�C���� ��<��������� ������� �26� ��1�&�4
!�����0����	�
�������������$�������.����������1�������2@�����
������� ���� ����L���)���4� �
� !�7��
� ���� �$�,� 	�
��������� ���
���9��	������W��-B������������������G<��������,1
�����0������2����
���,�1������7����,6

#����	�����'

������	�
��
��,-����

�
� ��-$��+���	�
���������������$��&��@����������������
1�������
�$�,@��H�
����!������������4�����	�
��������������!��&�
���������������
�����$�,�	�
��������������&��������>��2���*&��������/�������������
(������ ������ �"6� ������������� >����� ���� ,��� ,����� �37�������
&�����4����;���� 	���L��L	���� 	��2��	��� C��� ���� ��	����
�1���
	�
��������6� ��� ��� #@� ������� 1����� ?����
� !��1���
�9�4&��&��9���
�������$�,�+���������������������������?����
>�
��������������	��,���"@�8��
�����������������G�9����
��������
�2�*7��%4�`/6

�
�$������	�
��
�

��� 	�
��������� �����-B���� ���� �&�=$
����� ���� �.����� ������
T��
�� 	�
��������� ��
� ��<����@U� ���� �2� 1�
� ��	�� ����� ���
	�
�������������,���7������#+4��������2�1��������<��S������I1��4
���� 	�.$��
�� 1�2������(�����G�9���:���������� �����=���	�$�� ���V
������6�����W�	�<������4�������2������H�
����!�������
���9�����
�&�7�$��������!�1�����	3$�������������9������)�%���	
��)�%!�AB
���������&���C����������	������������7����,6��

��� ��
��	�
���������������+4�7����"�1�
�����G<��������������
���

	�.$���	
������&���4��������G�9�������.������
�������
�=�=��������
�"6�+��	����	�.$���	
������&���4�������	��������&�7�$����������(������

������8���%���9���
��:
������3)#�)���3��������� �!
/���"������;���������������<�*���2��
����
����

	�

���

���
���

��

�
��2R 	�+

4

1�
.��

1�
#$�

�R

�
>�R

���
���R

�
8�

�.R

��&
��R

��
���R 1�
��R ���

R

	��
7�4



�������

�������	
��	�
��������
����������

	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��

���&�������� ��


����'���-���%��=������������� �!� �&��������
<���
����
�������������

�����=���
���3 3�����!�� ���+���� >���� 37!? ���@���� ��7��=���� +�
���+��+�� +�
���+��+�� 0��1�

><�5�
� � �"��0��1� ><�5�
�
><�5�
�

� � � 	 
 � � 
 �

1���&�����
 	�
 ��� ��� ��� 	�� 	�� 
�� 	��

���&�����
 
�� ��	 ��
 ��� 	�
 
�	 
�� 
��

	��7�4��
 ��
 	�
 
�� ��� 
�� ��
 
�� ��


���2$���
 
�� 
�� 
�� ��� ��� 
�� ��� 
�


	�+4��
 
�� 
�
 
�� ��� ��
 ��� ���� ��


1�.����
 ���
 
�	 ��	 ��
 ��� ���� ���
 ����

1�#$��+4��
 ���	 
�
 
�� ��� ��� ���� ���� ����

�>������
 ���
 
�
 
�
 ��� 
�� ���� ���
 ����

������!����
 ���� ��� 
�� ��� ��
 ���� ���� ����

�8��.!����
 ���� ���� 
�� ��� ��
 ���� ���� ����

��&��!����
 
�
 ��� ��� ��� ��� ��� 
�� 
��

�����!����
 ��� ��	 ��	 	�
 
�� ��� ��	 
�	

1���&������ 
�� 
�� 
�� 	�� 
�	 ��
 
�
 ��


���&������ ��
 	�
 	�
 ��	 	�� 
�	 	�	 ��	

	��7�4��� ��� ��� ��
 ��� ��	 ��� ��� ���

���2$���� ��� ��� ��
 ��� ��� ��� ��� ���

	�+4��� ��	 ��� ��	 ��
 ��
 ��	 ��� ���

1�.����� ���� ���� ��
 ��� ��� ��	 ��� ����

1�#$��+4��� ���� ���� ��	 ��� ��� ��� ���� ����

�>������� ���� ���� ��
 ��� ��� ��	 ���	 ����

������!����� ��
 ���� ��� ��� ��� ��� ��� ����

�8��.!����� ��� ���� ��� ��� ��� ��
 ��� ����

��&��!����� 	�
 ��� ��� ��� 	�� ��� ��� ��


�&�M�����&���4�����
��� � � � � � � � �

������ ���� 
 
�� 
�� 	�� 
�	 ���� ����

	��(�� 
�
 ��� ��	 
�� ��
 
�� 
�� 
��

	��������&�7�$���
 ��
 ������ ����� ����� ��
�� ��
��� ��	 	��

�&�M�����&���4��������� � � � � � � � �

������ 
�
 	�
 ��	 ��� ��� 	�� 	�� 
��

	��(�� ��� ��� ��	 ��� ��� ��� ��� ����

	��������&�7�$���
 ��
 ��� ������ ��	�� ����� ��� ��
 ���

	 ��������.�	�/�+�����F����	����&���������=���	�$�����V���������1���	���������=����	�.$�������&���4���	��(���jk	��(���	�.$�������&���4���������#$�����	����QR^
	��������&�7�$������	�����6

D�%���#���	��(����D�%���#+4�	��(�����F�����������������������	�.$�������&���4����������#	�����$�>�������2@�?�����&�;�F=��$��J�	��	����&��&���9������������2@
:;�<�$����������7��������������>���������������2���2���1��������������������7����������X������=����������	����������NO������=����������(��������?�������	����������26


�0��
�/�������F�����������������������	�.$�������&���4�������>���������������2@�?�����7�AB����J�	��	����&��&���9������������2@���+4�:;�<�$����������7�������������
>���������������2���2�����$�������������	�
���������$�������2��1��������$�,����7����������^P������=����������(��������?��������	���#$�����������26

��1��
�������
��/�+�����F����	���@��	��	�.$�������&���4�������>���������������2�@�,�����	����������$������-!$�3�����+L��������������2�����9�������������
�����������$�,�	�.$�������&���4�������	��������&�7�$��������>���������������2�@������������������-!$�3�����+L������������	��������&�7�$������2��	��������&�7�$�������
!��7������������C���	�����������������������,������������	��������&�7�$��������>���������������2�6���!�@��	��,������������	��������&�7�$��������C���	���������	����������
����>���������������2��1������������������������>�#�����	������������26



������������������������������2�� ����	���&������J�	�=���Q������=������2��^������=���������������
��	�
���������	������� �&�7�$������-$��+��
	�
�������������	��������&�7�$�����
���	����2��!��#����$�>���26



�������

�������	
��	�
��������
����������
	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��
���&�����������

������D�%���@�D�%����	��(��@�	�(��	����2����������$%����(������
���$���������������=���	�$���2�6�OPPXLPN�����OPPNLQP
�����$�,�-!$�3�����+���(�������������	�
��������������&�������
����������������O�	
��������������>�+4���"6�������<���1������������2
������
����������	���&���.��4�	���L��L	������������<�������"���$������
�G�9��������-$��+��� ���������� ��#$����� 	���� ��	�������26�7�.����
������ 	�
��������� ��-$��+��� ���� &��#������� ������� �2@����l� ���
	�
����������������9��	����������	
����	�1�
�����
��=��4�����26�,��
�7D��	�
���������������������.&�4���&�=�������������2��������
&��������C���������&���1��	
����������2�������(�����&��(���8���
�S�������������1�������2�1�����9�4&��&��9���	
������7�����	����!��$��&�
��
��=��4�����26

��� ����������������4�	
�@���������+k-!$�3�����+�����<��S�����
I1��4������D��-B�������������
��	�
�������������&������M��	���������
��	�.������!��#����������>��D.%�1�������26������=
���&�����
�����
	�.$���)�%L!�AB��������4�����	�
���������������&�;�M���������������(�
�������
��������6���$�������+���	�.$��
��������	�>���37�����������
������������&����-B�����2@�&
��8����1�$����
�?$�%�1�������"6
$
�������G�9���	�.$��
������?$�%�����������������$������$���
������������6�+���$�,@���	�>��	�
�������������������!�1�������
�
	�
����������������������!��?����
>��	����$������1��,��������(��4����
�������,���1��%$��	����!������#����26

�����=��%������6��

��� &���G$�����	�
��������������
������!��7���������������	
�
	���
�����������������7��$���������1��%$��!���������26����������@
��1�&�4�!�������������9�4��������&�M���������������
���������9�
	�
������������������������
�@���	�>������<���-������������)�%��
�@
�������<������2���������������4�����	�
�������������G�9��������
����$�����������1��������6�>�&���4��-�bR���!!����&��0������,
>�,������������#�����T��1�&�4�!������&��������	3$����37�������
�����
=�
(����	
��$�>�������$�>����#����2�����	�
������������������
	������2����(������(����$���
������$�,�����������
���&�=����

���������������������������>��U6

��� 	���
�����������������	��4�������������4�	
�@�����	���&��3��4��2
�������%'�������������	�
�������������,���	�1�!3������9��	���
���������6�+�����=���	
�@���������+�*=����/���2����������+
*>��	����/����������$������=�������$�,�����������(������������+
����	��>�4���=������������������26�+���!���������������&�=�������
�2�����-!$�3�����+�������+4�:;�<�$��������!�AB�����1��,��1���	���
?��������	�>����&���1����#(������������$�,����&���	3$����37�������
���>��6�+�������$��&��@�����&���D�������
>���������=�������$�,
,���?��������	3$����37��������*��������+/��&���������������
�����$�,����	��?[�,�1��,�6�+�������$��&��@��&��������	3$��
�37�������
�� ���� ����������(������� ��(���� &���4� ����� !���L!���
�S�������������!�AB�+4�1������������2���������9�4&��&��9���	
�
����7�����	��������&���4�����
��=��4������6

���#=��

!�	�4��@� ���R!��R� ���� ,R���R� ���>�� *OPPO/�� T������� 	
�
	�
�������������%'���������<����
������-�%������%	���	�����&�������
	3$����37�������
������	��(��	���
�,���!��#�����	���hG�%��
��U��,-
@�!��R�,��R��	������@���b8����
-4��3���&����4%�������6

����
���� ����G<������ ���>�[��� *OPPa/�� ���%'���� $
<��
����G<������L�m�
��������������6

-�R���!!����&��*OPPN/��T?�i)��%��������������;������&�����4��
����G<��������&������		
$���U�������������1�&�4�!�����!�$
�%��@
�>����6

����� ,R@� 1
R� 1��b��� ���� ,��R� ������ *OPPN/�� [��
�
	�
���������� 	���� ���� �����-@� ���������� ���9�4��� ��	�����
*��>��	��/6

	�
������-�@�-�������9������,	���	�2����*OPPP/��T������
�����$�,���
��	�
������������������U����9�4���������1���������
�����������@�_^�*^/6



�������

�������	
��	�
��������
����������

	������������������

�������	�
�����

��� �!�"
	��������!�#$���%��

���&�������� ���

��-i-�@�&��+R�&��R�*QNNN/���������	
��	�
����������G�9����
����	���@����9�4����������	���1�����(��������H�
@��2���!���
	
��������>������������6

������������1�&�4�!�����*QNNX/��	�#
�����3���4����������4��$�
���� ����
%4�� �����$���� ���� �&�=$
������� ���� �����4�����$��
*�(������-�bR�&��+�&�����-i-�/6

���	����@�1��R���R�*QNNN/��T�������	
����
��	�
���������������
����������>��������������U@����������� ��1�&�4� !��������	������
������@�OP�*Q/6

:����&������@� %�R,��R� *OPPX/�� T	3$��� �37�������� ���
	�
�����������U@����9�4���������1���������������������@�̀ _
*OY/6




